3J41(a)033+025+012=070
(b)0.03+020=023
(e} 025+012+007=044

3 A42(a)1-007=093
(by1-0.03-020=077
(€)020+033+025=078

* 343 () Pr{20 =Y =30} =041+021=082
(b} 041 +021+0.03=0.65
(c}0.01+034=035

JA4(a)001+034+041=076
(b)1-0.01=0099
(c)034+041+021=0096

3. 4.5 (a) (0.35)(0.35)=0.1225
(b) (0.3500.24) = 0.084
(e} (0.33)(024) + (0.2440.35) = 0.168

3.5.1 (a) 610/5000=10.122
(b) (130 + 26 + 3 + 1)/3000 = 160/5000 = 0.032
{c) (1400 + 1760 + 730)/5000 = 0.782

3.5.2 (a) (3)(610)/22,435=0.0816

(b)Y [(T(130) + (8)(26) + (9M3) + (100(1))/22.345 = 0.0515

Chapter 3 51 52 Solutions to Exercises
() Choosing a young at random gives a selection of broeds which is not random, but 15 biased toward
larger broods (because a larger brood has more chances to be selected). Therefore, Pr{¥ =7} is
larger than Pr{Y = 7}.

3.5.3 pr = (190730000 + (2)(230/3000) + (3)(610/5000) + (4X1400/5000) + (3)(1760/5000) +
(6MT50/5000) + (7H(130/5000) + (B)(26/5000) + (93(3/5000) + (10)(1/5000) = 22435/5000 = 4. 487.

3.54(a) 0189 +0027=0216
(b} 0343 +0.441 +0.189=02973
* 355 (00(0.343) + (1)(0.441) + (2)(0.189) + (3)(0.02T) =02

« 35,6 VAR(Y) = (0 - 0.9)%(0.343) + (1 - 0.99% (0.441) + (2 - 0.99% (0.189) + (3 - 0.99% (0.027) = 0.63.
Thus, the standard deviation 1s v0.63 =0.794.

3.5.7 (a) 0.047 + 0.004 = 0.051

(b} 0316 +0.422=0.738

() 1-0316=0.684
3.5.8 The mean is (0)(0.316) + (1N0.422) + (2)(0.211) + (3)(0.047) + (43(0.004) = 1.001
3.5.9 (0(0.15) + (IN0.30) + ((035)=12

3510 VAR = (0 - 1.2Y%(0.15) + (1 — 1.20* (0.30) + (2 — 1.29* (0.35) = 0.46. Thus, the standard
deviation is /(.46 =0.678.



